
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Calcular porcentagem de decimais

0, 41 × 40% = ________ 1, 56 × 50% = ________

8, 08 × 80% = ________ 3, 35 × 60% = ________

2, 72 × 20% = ________ 3, 39 × 30% = ________

6, 33 × 50% = ________ 8, 97 × 50% = ________

0, 98 × 80% = ________ 5, 5 × 60% = ________

2, 94 × 70% = ________ 8, 48 × 40% = ________

3, 1 × 20% = ________ 6, 06 × 40% = ________

3, 57 × 70% = ________ 1, 6 × 10% = ________

8, 16 × 50% = ________ 8, 84 × 30% = ________

7, 13 × 50% = ________ 9, 84 × 50% = ________
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